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&KULV &ROHPDQ
5HIJLRQ $FFRXQW 'LUHFWRU 6RXWKHUQ &$
&1(&7

&KULV &ROHPDQ LV D SDVVLRQDWH VDOHV SURIHVVLRQDO DW &1(
H[SHULHQFH UDQJLQJ IURP GLVWULEXWLRQ DQG PDQXIDFWXULQJ

&KULV EHOLHYHV ORQJ WHUP UHODWLRQVKLS EXLOGLQJ LV FHQW
PDNLQJ VXUH KLV PHPEHUV UHFHLYH WKH IXO0 YDOXH H[SHULHQ!
DQG PHPEHU HQJDJHPHQW

-DFO\Q %DXWLVWD
OHPEHU (QJDJHPHQW 0DQDJHU 6DQ 'LHJR
&1(&7

-DFO\Q %DXWLVWD MRLQHG &1(&7 LQ EULQJLQJ VDOHV DQG PL
WHDP 6KH KDV D SDVVLRQ IRU KHOSLQJ RXU PHPEHUV UHDOL]H V
H[FHOV E\ WDNLQJ WKH WLPH WR WUXO\ XQGHUVWDQG WKH PHPE
WKHLU JRDOV 7KURXJK WKLV SURFHVV -DFO\Q LV DEOH WR EXLO
VXSSOLHU SDUWQHUV DQG PHPEHUV



